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Bplot(F7oarEBETS)
B main="EORHEL"
8 xlab="x#OIRH"
B vlab="y#OZA"

B legend (EHR)
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> h1 <= read.table(“ch051.dat”, header=T, row.names=1)

> plot (h1, type="n") :none
: point
> text(h1, rownames(h1)) ‘line

: both Sem— —
roverhit

-—

> plot (h1, main="plot ()", xlab="height”,ylab="weight”, pch=1) \

> legend (“topleft”, legend ="e01.dat”, pch=1)
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> h1 <- read.table(“ch051.dat”, header=T, row.names=1)
%)
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> ¢1 <- read.table (“ch052.dat”, header=T, row.names:l) |

> plot (h1, type=“o

> pie (c1$freq, labels=rownames (c1), clockwise=T)
> barplot (c1$freq, names=rownames (c1))
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> size2 <~ factor (sizel)

> str(size2)

- -

r >sh<-¢(0,3,15,15,10,8,12) m
> cut (sh,breaks=c(min(sh)-1,10,max(sh)),label=c(“N",“Y™))
> cut (sh,breaks=c(min(sh),10,max(sh)+1), label=c(“N",“Y"), right=F)
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